PIK. 0,00
Skala pionowa 1:100

Skala pozioma 1:100
Pole wykopu - 0,15m2
Pole nasypu - 0,26m2
W.wyrownawcza - 0,05m2
Humus ist. - 2,87m

Frezowanie - 0,68m
Poszerzenie - 0,00m

P.P.=127,00m
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PIK. 55,00
Skala pionowa 1:100

Skala pozioma 1:100
Pole wykopu - 0,01m2

Pole nasypu - 0,95m2
W.wyrownawcza - 0,12m2

Humus ist. - 4,78m
Frezowanie - 0,40m
Poszerzenie - 1,35m

P.P.=125,00m

PIK. 12,00
Skala pionowa 1:100

Skala pozioma 1:100
Pole wykopu - 0,02m2
Pole nasypu - 0,64m?2
W.wyrownawcza - 0,18m2
Humus ist. - 4,43m

Frezowanie - 0,00m
Poszerzenie - 0,70m

P.P.=126,00m
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PIK. 71,00
Skala pionowa 1:100 i T
Skala pozioma 1:100
Pole wykopu - 0,02m2
Pole nasypu - 1,01m2
W.wyrownawcza - 0,13m2
Humus ist. - 4,70m
Frezowanie - 1,40m
Poszerzenie - 1,30m
P.P.=125,00m
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